SAMPLE ADMISSION EXAM QUESTIONS - MATH
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Q7.

What is the area of this triangle?
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Qs.

In the special square shown, the sum of the three numbers

in each column equals the sum of the three numbers in
each row. The value of z is

(A)3 (B) 4 (C) 5
(D) 6 (E) 12
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Q9.
Initially, there are 5 red beans and 9 black beans in a bag. Then, 3 red beans and
3 black beans are added to the bag. If one bean is randomly chosen from the bag,
what is the probability that this bean is red?

(A) 2 (B) 2 (C) 4 (D) 2 (E) &
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Q10.
Which of the following circle graphs best represents the
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Q1.

What is the name of this shape?
Hexagon Octagon Quadrilateral Pentagon
O O O O

A) B) C) D)
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Q2.

The graph shows the number of hours that Gabe spent ) o
riding his bike from Monday to Friday. The day on which Time Spent Riding Bike
Gabe spent the greatest number of hours riding his bike is

(A) Monday
(B) Tuesday
(C) Wednesday
(D) Thursday
(E) Friday Mon Tue Wed Thu Fri
Day of the Week

Number of Hours

[=T e S Y ]





image3.png
Q3.

In the diagram, ZABC = 90°. The value of z is
(A) 46 (B) 22 (C) 36

(D) 42 (E) 54
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Q4.

If = = 3, which of the following is true?
(A)2zx=5 B)3r—1=8 (C)z+5=3 (D)7T—-2z=2 (E)6+2zx=14
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as.

In the diagram, the perimeter of the triangle is equal to
the perimeter of the rectangle. What is the value of =7

(A)8
(D) 14

(B) 10
(E) 15

(€) 11

xcm
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Q6.

The perimeter of the figure shown is
(A) 18 (B) 17 (C) 23
(D) 20 (E) 25





